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At the end of the previous daf we learned the Mishnah

RINW 533 277 NAWI IR AIRIDTN RDNTN VRO W10

If one put away, even one seed, for planting, or to use as a
sample for potential customers, or for medicine, and he then
carries it out on Shabbos, he would be 271, even though it is
less than the minimum amount generally needed to be 27m.
Rashi explains - 7awnR 87 - by setting it aside he showed
that even this small amount is significant to him.

The Gemara points out that a person is empowered to
determine what is considered 21wn for himself only where
others would also under certain circumstances find this small
amount significant, and for example, plant one seed.
However, if a person determines that only an enormous
amount, like everything in his house, is considered 21wn, he
would still be 2n for carrying one item out of his house,
because

DTR 53 53R NPT >0 -

We ignore the person’s thoughts in light of the common
attitude of the overwhelming majority of people.

The Mishnah continues;

1YW ROR POV PN PR OTR D -

When one person gives m2wn to a small amount of an item,
others, who do not give m2wn to that item, would not be 2°n
for carrying such small amounts.

The Gemara comments, our Mishnah is not in accord with
the opinion of py»w " who holds -

5w IN2Wwn"I M 27NN -

One person can be 271 for carrying something based on the
thoughts of another person who considers the tiny amount to
be important. In other words, once this item was stored by
one person, anybody who carries out that item is 277,
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The Gemara continues;

21,00 75D Pom1 7IRS NI RORIN

If one took out a food item the size of a M3 - the normal ﬂ"?]} '[5?331 NANI0 XA
MW to be 27n for carrying food - for the purpose of eating ny*ﬁrs n‘a’:&%
and then changed his mind to use it for planting, or vice y

versa, he is 2, because he carried the 1w, and there is no %

requirement to have 2

WAL RTA2 AN ATPY - (4

to have the same intention when removing it and when

putting it down.

Om ARy
NN NTR2

R17°v1 - Rava asks a series of three questions relating to

items that change in size after removing it but before putting LSS

it down: oy Tomm N33 3R A

171 799K 775D ORI ANOMm 7Y RY N IA RN - r=y) pnbm 0Ly,
. Ifhe took out a piece smaller than a fig for planting - which is &7

enough to be 27, since it's meant for planting - but it's not

enough to be 2°n when meant for eating - and then it swelled - 2

to the size of a n9M7), which is enough to be 27n even when
you intend to eat it, and he changed his mind and decided to
eat it, is he 27n?

M YRS PO IomN APRRI 12IRD N0 KR -

What would be the 71057 in the reverse, where he took out the oy 15?::1 R
size of a n9M7) with the intention to eat it, but then it shrunk i) gy AzA=Lr)
to less than a N3 and he decided to plant it, would he be @ &;
e k)
25 25
Finally, 17m anom a7 apn) 122985 D30 R0 - (4

What would the 1557 be if he initially took out something the
size of a N7 with the intention to eat, and the item shrunk
to less than a N3, and then swelled back to the size of a Valai~)

N by the time he put it down?
D010 NN
ansnY M ApRxY mbyanb
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0 - All of these questions are left unresolved.
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T RO 122 1IN 771 23T 1M 290 K2 PP RYA -

A person threw a mtd of 10 into a house that has a dead
body. The x93 explains that the case is where there is less
than a nx°1> of food - the minimum needed to transmit IRV -
in the house, and this extra 12 now combines with the food
already in the house to equal a 7x°22. Do we say that since his
act of throwing has an impact on
the Halachos of ixmwv it should also be considered signifi-
cant regarding carrying on naw even though the amount he
threw was less than a nn?

The xa tries to prove that the 1w for being 21 on naw
should not be impacted by the M35 of nrmW, from the fact
that one is only 271 for carrying a N30 of onn 'nw or on>
D197, and not for carrying a n°1d, even though these items
become %109 when just a n°1d is removed from the 7.

The xa rejects this proof because the two o Wo'r do not
come at the same time. The X3» WoR is violated as soon as he
removes it from the 771p, and the IR Mo°R is violated only
later when it's taken out to a 0237 mw.

In our case the nxmWw and the IR®IN occur at the same time.

We proceed with the next mwn:

Zugt di Mishnah; 7191p0R1 5 13031 PH9IR R'3inn - Ifa person
brings out food from inside his house and places it on the
threshold, and then, he or someone else carries it from the
threshold to the o170 mwy,

NNR N22INOROD 7Y ROW 191,109 -

He'’s exempt from liability, because the transfer was not done
in one act.

The X3 explains that the threshold is considered a m5i75.
Therefore, carrying the item from the house to the threshold
is one act of transferring from 7m0 mw to a 517> for
which one is T09.

Then, carrying it from the threshold to the street is another
separate act of transferring from a "3 to 0270 mwA for
which one is also Mvo.

The Gemara points out that this Halacha seems quite
obvious. Rather, the Mishnah wants to teach us that had he
not placed it on the threshold, but walked over the threshold
and out to the street, it would be considered one act of
transferring from i mwA to 0377 MW, and he would be
arn.
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N1 12 disagrees and says;

0O POD TIT RVIOD I R -

One who carries from the store - a 707 mw1 - to the plaza - a
02797 mwA - through the bench area - a 575 - is Moo,
Because, 'Rt 12 holds w3 750 -

While walking, one is considered to have come to a momen-
tary stop between each step, when both feet are on the ground
simultaneously. Therefore, each step is considered a separate
act. In our case, while walking through the m%>7, he is
considered to have stopped in the "51m73, making it two
separate acts, just as when he placed the item on the thresh-
old.

The second 1257 in the miwn is
ANXMA I9IPOR HY FINN MO ARYD RN 10 -
He placed a basket full of fruits on the outer part of the
threshold,

. PN MO 217 0 5V X - even though most of the fruits are
in the 0277 MW",
791p1 59 IR RXPW TV MO - he is 0o unless he takes out the
entire basket to the o237 mw-.

There is a fundamental XX N5 about how to
understand the mywn.

pin holds that the miwn is speaking of very long produce
like pv157 pR1w’p -cucumbers and gourds - where each fruit
is still partially in the 7 mwA. If the basket, however, had
5791 - mustard seeds - where many of the seeds are entirely in
the o297 mw", he’'d be 2n. This is true because, in 7PpN's
view - TR 7Ppw RS 95 TR - the fact that the produce is in a5
that is partially in the 7m0 mw1 does not change the status of
the produce.

131 27 holds that the 71w can be speaking even about a
basket full of mustard seeds, and even though many of the
seeds are entirely in the 02197 Mmw he is still 110 because TR
TR 7PpW °0 - as long as the utensil that holds them is still
partially in the 7’0 mw9, they are also considered to be
partially in the 7ron mw.
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After clarifying how pin and 11nv "7 each read our mwn, the

R tries to bring a Xn71 as proof for each opinion: 1’53 17 NDYP NI
ANXTN I9POR SV 7NN YN DO RORIT - ‘7;} =13
If 2(11 pc;rsor:1 t.ook a hspice sal;smin’lsdbﬁsket m;t ofa7mn n;lim he is1m MOYDON
and placed it on the outer threshold, he is only 271 once the a7 YL
entire basket is outside. This seems to contradict 7P since 2/ I_[}/ If the rhEstal
some of the spices are entirely in the o337 mw yet he is 0o entire basket

because part of the basket is in the T mw! 1Soutside

ui
The xa rejects this proof;

YDITIND POV 'R R, the Xn»72 must be speaking about
long stemmed spices so that none of them are entirely in the
D290 mw until the entire basket is in the o237 mwA. 1POY INHI NI

YOITINI *ﬁ%@é‘

The X2 next tries to challenge 130 '3 from a X092 that says;
nawa ©) 1m0 - if somebody steals a wallet on naw, ifhe is

e

R 770w, drags the wallet out of the house, he is Mo from S
paying since he is 271 for naw %1>°m at the very same time that 5 :w: O D N7
. he incurs the monetary obligation. 77» 127721 75 Dp teaches zf he 1S

that one cannot incur a monetary obligation at the very same
time that he incurs a death penalty. If 137y 1 were correct that
you are not 271 for naw until the *53 is entirely removed, he
would have been 171 for the money before becoming 11 for

the naw 91%°m, since the PP 2rM comes as soon as any : ”n .,1UD
complete coin is in the 0’2797 MwA.

The X rejects this prooftoo by saying Xo011 we may be
talking about a wallet full of long silver bars that take up the
entire space of the wallet, so the bars are only entirely in the
D297 MW once the wallet is also entirely in the 0237 mwA.
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